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3 The Restricted Three-Body Problem

3.13 Hill's Equation
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Fig. 3.28. The zero-velocity curves defined by the equation Cy = 2Uy in the vicinity
of the Lagrangian points L; and L, for a mass p = 0.1. Note that in the Hill’s
approximation the equilibrium points are now equidistant from the mass 1, (denoted by
the cross at the origin).
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Fig. 3.30. Particle trajectories obtained by solving the scaled form of Hill’s equ?tions.

The perturbing mass is located at the origin and the L, and L, points are at y’ = 0,
& i ith &/ = 0 (i.e., in circular orbits) at y’ = £200.

x" = £1. The particles were all started with x (i.e.,in ‘ y

The arrows indicate their direction of motion before encountering the perturber.
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